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(c) Alogic circuit has the following truth table.

~|=lolo/ x
~lo|=lolr

M=K.T M=K+LT M=K.L M=K+L

Circle one of the Boolean expressions above which correctly describes this truth table.
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(b) Complete this truth table for an AND gate.
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(c) The circuit of Fig. 1.1. contains an AND gate and some NOT gates.
co >c £

Do >c
F

(i) Complete this truth table for the circuit.

Fig. 1.1

c D
0 0
o 1
1 0
1 1

4

(i) State the name of the logic gate which has the same behaviour as the circuit of
Fig. 1.1.
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The circuit of Fig. 6.1 contains three different logic gates.

Fig. 6.1

(a) Labol the logic gates with their names. Choose from:

AND EOR NAND NOR NOT OR

(b) Complete this truth table for the circuit.

c B A D E
o ) [)

0 o |

o 1 0

0 1 1

1 o 0

1 o 1

1 1 o

1 1 1
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(b) A second logic circuit is described by the following Boolean expression.
P=(AB).(A+B)

Using only AND, OR and NOT gates, draw the circuit for P.

(¢) Use only the rules of Boolean algebra to show that P = (A.B) . (A + B) is an
exclusive OR of A and B. Justify each step in your working.
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2 (a) A logic circuit has the following truth table.

=~ a|lololo
o o|l=xlom

E=C.D E=C+D  E=C.D E=C+D

Circle one of the Boolean expressions above which correctly describes this truth table.
m

(b) A logic circuit has the following truth table.

Flal|Hn
oo |1
o 1 o
1 0 o
1 1 0
H=F.G H=F+G H=F.G H=F+G

Circle one of the Boolean expressions above which correctly describes this truth table.
U]




